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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E, in the
appropriate space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet Version Code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part A contains 40 questions of
1 mark each and Part B contains 15 questions of 2 marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English an&""Kannada. If any confusion arises in the
Kannada version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the OMR
Answer Sheet is collected. After handing over the OMR Answer Sheet to the
Invigilator you may leave the examination hall.
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Q.P. Code : 90021 DM

PART - A

Choose the best option. Each question carries 1 mark. (40 x 1 = 40)
SESEBS esai%oi)ﬁ%mm:& 38 3Zre 1 &os :

The part of Indian population that depends directly on agriculture is

(A) Two-third (B) One-fourth (C) Half (D) Three-fourth
wasdeady zsm!#oa%ob Wansy) deden gaod $oeds ¥30NITON.
(@) 2/3 (w) 1/4 () 1/2 (B) 3/4

The term ‘operation flood’ refers to

(A) Food control (B) Milk production
(C) Rice production (D) Population control
‘s’ PB® dow JTR) ), 3RV

(8) ©320 dadbos e () %98 evzrs

(8) wdab evzns (B) wmzoam; D003 e

HTML stands for

(A) Hyper Text Making Links (B) Hyper Text Mixer of Links

(C) Hyper Text Markup Language (D) Higher Textual Marking of Links
B £3.00.00F. W03 :

(0) ZFo® 35 Soedone Doz’ (w) BIC® 5t QFOF et dos®

(8) BTo® e § [ BRTFYDt eJaorLezs‘ (B) ®odof 380 SeF Indeont esp dos®

Which of the following is a non renewable energy source?

(A) Solar (B) Coal (C) Wind power (D) Methane
@HNYd adnz)ndo @’do‘ﬁacﬁdmr{m%d QP IDNE?

(v) Posd (») sOBev (8) 0B (B) et

~—

Which gas is responsible for the global warming?

(A) Nitrogen (B) CO,

(C) Noble gases (D) None

wRTI3T STBRNF, FoTmnmrE 8O adR)E?

(¥) =oUunTT () Boroos & us &f
(¥) Seewer Mz ; (@) adex)Ee ve)
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6.

10.

The mother dairy is an important co-operative society in

(A) Gujarat (B) Punjab (C) Haryana (D) Delhi
w0 &Badn 89, 2080 SDTT FSTT H0.
(®) rowoes (w) Sozew® () ®adwre (B) d=9d

Internet works on

(A) Packet switching (B) Circuit switching
(C) Both (A) and (B) (D) None of the above
803 OF) &), ¥300D FOR SPEIIE.

() =R Bes Ardon® () =mTRFE® Rpdon®

(8) (v) DI (W) 20ER (B) aleHve ve

In the e-mail address “Justincase@gmail.com”, what is the domain name?

(A) The whole address (B) .com
(C) gmail.com (D) justincase
“Justincase@gmail.com”®&, BRB)P'S BITL 0T BO?

(v) B9k dvn (w) .com

(@) gmail.com (®) justincase

A solar cell is made up of

(A) silicon (B) titanium (C) magnesium (D) only mirrors
390 80635) Fl61a] asz%mg .
() 29%n° (w) &esad0do (3) Sonhesado (B) B R Bridor

The prefix “Nano” comes from a
(A) French word meaning billion (B) Greek word meaning dwarf

(C) Spanish word meaning particle (D) Latin word meaning invisible

‘a%aim‘ D0V JRPIF JdD) Q0T 20003.

() Db dow eatﬁs'@% $oe* DT (W) &ou&aom eqﬂrzjﬁv nNes® 36

(¥) o 0w WPFFHY, Nes® I (B) o83 dow wPrR)Y, U tse’ I3
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13.

14.

15.

-

N

The science of getting exact copies of desired living organism is known as

(A) Pranab Mukherjee (B)
(C) P.Chidambaram (D)

(A) Copying (B) Reproduction

(C) Cloning (D) Bio-copying

20T 208 HeIodd SWRHNYBY, BEOIVSE L5 TT, DO BRT.

(®) Tz IRBIVE (W) RozeRee3g

(8) 3BRETTN (SReI0N) (B) e BBen IPBDF (wakee Fa00NT)
is a Iodine deficiency disease.

(A) Goitre (B) Hepatitis

(C) Arthritis (D) Carcinoma (Cancer)

Bens) ©03peRT* HTI00T HVoENIZT.

(o) mMmoETE (w) =3

(B) =oBe3 (BPFET) (B) w3

Who announced the introduction of National food-security act?

Manmohan Singh
Arun Jaitley

O‘e)e?gai) &350 0Fe o0 mammmawﬁ% &,5E32WS00 0dpvO?

(0) Jyeees® SDBE (w)
() o. ¥oowdo (B)

In Science, an educated guess is called a/an

SovtSecde® o'
(1o S5l z:!é.g,

(A) Question (B) Conclusion

(C) Hypothesis (D) Observation

DT Fe3BD womd B0BI3 ed T, 2070 FB0IVFT.

(v) I3 (W) 8edors

(B8) TPTEFTISNT VPT0 NRB (B) =Ddegs

Expand SAM

(A) Scanning Microscope ™ (B) Sound Amplifying machine
(C) Scanning Acoustic Microacopé (D) None of the above
SAM®), 2302

(v) =, dor’ BB eRR T () FPow® oy oot So8r°
(23) =9, Qon® eFdRFe B95.0,eRR 0T (B) SoedS 0dnF)Be ve),
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16. Of the following select the adversities of antibiotics 22. The
(A) Allergy (B) Self-prescription (4)
(C) Diarrhea (D) All of these <)o
8 FINII)NIA wex3 B Reend ¥E SOHISONY), sad), Sk (®)
(¥) wrRTODT (VoF) (w) =zodo FT
W) ©3m0 d) B0edT o
(8) 3w (@) 003 203p s 10
17. In India “National Science Day” is celebrated on (A)
(A) 28t January (B) 28%hMarch (C) 28t February (D) 29t February ©
4703038 Somb “Tadead DT BB esrdReRTIZT. 15
(0) 283cmazd  (w) 28SeIwwe  (¥) 28FcowId  (B) 298¢ FuId (¢
18. The Head Quarters of ISRO is located in (t

(A) Bhuvaneswar (B) Bengaluru (C) Chandipur (D) Shri Harikota
FhRes Feow, seSedadn 898 24. 1
(¥) PISe30* (w) wWorieeth (8) w0BB)O° (B) Besd dwcts (

19. Expand HGP

(A) Human Gene Property (B) Human Genome Project
(C) Human Genetic Project (D) Human Growth Project
HGP oL, H30% o
(¥) BRTOR® e’ DY/ (W) BRTOR Hedoes’ Hus;,
(B) SR Wdtds® wous;, (B) 3R rleen® Houls,
20. The first nuclear power plant in India is
(A) Kudankulam Nuclear power plant (B) Kaiga Nuclear power plant
(C) Tarapur atomic power station (D) Madras atomic power station
9030 ST @D B mmddaﬁ)
(¥) TPBRBYO VB TIT (w) gro wewsd Feod, 26.
(@) S0IHT® ve03E e, (B) Sz VB veoy,
21. One Nanometer is
(A) 10° m (B) 10° m (C) 10°m (D) I m
0% MYRRE QL0 20TT
(¥) 10° m (») 10°m (¥) 10°m (@) 10°%m
C 6/16 c
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22. The word SCIENCE comes from the language.

(A) Latin (B) Sanskrith (C) French (D) Greek

QD gfd QO IWI) 700w WohT.

(¥) oS’ (w) Rox3 C(B) o (B) nes*
23. In the year 1543, who proposed “Heliocentric Theory”?

24.

25.

26.

(A) Galileo (B) Oldham
(C) Einstein (D) Nicolus Copernicus

15438¢ IXFBY, 0t ZoabF §eoB)3 267908 SR), B3ToRIBTL?

(o) nddalee (W) WFBAS*
(B) o3 0° (@) Bpcos® Bpe3rss

The birth place of Renaissance is 4
(A) Italy (B) America (C) India (D) Australia

VLIS w35
(¥) 2o (») @Boedm () %03 (B) ehsdain

th; discovered the antibiotic “Penicillin notatum”?

(A) James Watson (B) Alexander Fleming
(C) Oldham (D) Galileo

BAIn* Setdetdo o e QBREFTSIR, 03500 FoB) LBWTHL?

(®) a‘:exsfq 3%&“1,“6 (W) ed@qoﬁo* Foon®
(¥) befms O |

A life Scientist would study which of the following?
(A) Weather N (B) Stars and Planets

(C) Algae (D) Electricity
22 263 D2 N T FINTR)NYD, 0dna)Bey, 803 SeBEISIE?

(®) BwR0s () SgIrish B30 R@ried

(33) ooy | (@) amug

7/16 P.T.O.
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| 32. Who is called Father of Evolution?

(A) Charles Darwin (B) Oparin Haldane

(C) Lamarck (D) Neo-Darwin

33.

34.

35.

‘RS HTRT wWIT' 20w adRTny, FSadNIIY?
(¥) WfF BAFD® () wdedn® Boden®
(B) o=wsr (@) Qodec-wadrn

The term “antibiotic” mean
(A) Against life (B) Antibody
(C) Both (A) and (B) (D) None

e QBRCHT (©4083 WOdLIT) Word

(®) Be8, JTRB (w) Brerpmzes ddoed

(B) (v) o3 (W) 0B (@) ode3)re ve)

The term ‘polymer’ is derived from language.

(A) Greek (B) Latin (C) French (D) Spanish
‘IR0 How FBITY waEo0d IriBOBAY,RNG.

(0) Reot (w) opiset (8) Fow (@) =, df

Nuclear fission means

(A) Splitting of larger atoms into one or more smaller ones

(B) Fusing of two or more lighter atoms into larger ones

(C) Splitting of single atom

(D) None of the above

VD HTYCTT0 BouT

(¥) dow SoBPewnieh Oui0R) woR> BFms 813), 138 BoIPeHTIrLZTO
(W) 20B OG> Bed) 188, SosRewrch 260 BB BOSREORTORIE

(¥) womd FoBwews) Y@ A)THO

(B) 008 cinFHTe ve)
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36. Chernobyl nuclear disaster happened in country.

(A) USA (B) USSR (C) Finland (D) Norway (
BRecrde’ v ST BT BeBnd evotso3. ¢
(v) ©deds (w) Oy (w) onoRow’ (B) wmodlF

41. |

37.

38.

39.

40.

The 1st Indian Satellite launched by the Soviet Union on 19t April in 1975 is
(A) Rohini (B) Apollo (C) Chandrayana (D) Aryabhata
19 22 1975 B0t Zeedode® obeAoLR® Be3F) BVEI0DIT SATO avdead evsn®

(©) ek (¥) oBpedoe (@) BoBalRs (@) wobrgts

The study of Heredity and variation is called

(A) Gene (B) Genome (C) Genetics (D) None of these
‘808 J00FT F03) WHLRTE VWC WG, 0TI, DBZTT.

(0) Jozzd (2Wer®) (W) Tod=edb Be3 (Wednems®)

(¥) 39z, (@) odnIHve ve

Who coined the term Nanotechnology?
(A) Richard Feynman (B) Norio Taniguchi
(C) Watson and Crick : (D) Albert Einstein

a%r&!ac é.!a‘glem% D02 aasag SATen wenImn oE=T adRvo?
(¥) dUEr FoIOR (») Bpedadpe e

(¥) = n° D03 3 (B) wobfs ov's @

Father of Green Revolution in India is

(A) M.S. Swaminathan (B) Norman E. Borlang
(C) N.R. Vishwanathan (D) M. Visheweswaraiah
OITE BA 53,0800 2B |
(¥)  20.57°. TP (w) ©Rora 1. Wecoyont
T (8) anf.u0t. ABFRt (@) o. dBezTady
10/16
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4]1.

42.

43.

PART - B

Choose the best option. Each question carries 2 marks : (15 x 2 = 30)
¥3)330 $03),0008), 2P0, T8 FBNA 2 BoFNY

Why are viral infections especially difficult to treat?

(A)
(B)

(C)
(D)

30

(®)
()
(%)
(@)

Because they have RNA as their nucleic acid

Because they rely upon their host cells for the majority of their metabolic
functions

Because some virus are enveloped, some are naked

Because there are many types of viral structures

AReosonY 2533 od 0w FRFTTNG, DT?

BT w)rith RNASR), 33) 8R,30005° 830N BRHODES

DOV &3 IR WHITEL WAT 3,0HNIYMN B3geod BeSEReBRYR), BT ©oDIS
DFOBT FOF) ST BAVT B0V, FOF) Brizenas

BT 307N o emes S5 2wl

What was the basic format of the hypothesis?

(A)
(B)
(C)
(D)

If (this happens) then (this won’t happens)

If (this won’t happen) then (this will happen)
If (this happen) then (this will happen)

If (this won’t happen) then (this won’t happen)

BPDFBIBNT BFT FRBoD Fee Bo3E odRR)RO?

(®)
(@)
(%)
(%)

A BSTWT [ BHOHDL),
2B BHdTT QW0 r3d
A BT AT BROIT

BB BROBTT RO VOB,

The Decimal system is also called

(A)
(€)

©08 Do (BAF) FBIoDR),

(®)
(¥)

Binary system {B) Aryabhata’s system

Hindu Arabic numeral system (D) " Kerala Mathematical system
DOW A® FT0IIT.

(w) wabeyiss 308

(®) ¥eodw riedd EidQS

Qﬁd;aﬁi (&Lﬁb) ﬁt:i)&
&OBR 0D 33033% m;a
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44. The “Green Revolution” is criticized by some because of the following reasons

(A) It created an agricultural surplus 47:

(B) It promoted monoculture varieties in food grains

(C) It increased the dependence on fertilizer and pesticides

(D) Both (B) and (C) are true

‘BATO 59,08 0D, FOBC) Bt FVRNVTN E3e803T

(©) 2 IAFIBO, B3 BRI A

(W) B 8HT PoFNYR) DTSV APTYR), BB, cTHIB

(B) UImOLAT medri% F0) deb3d aBEnY Soed Gd&o&ﬁi&bﬁi{ﬁzﬁﬁo

(B) (W) Do) (W) o8B FDadPNS

45. Smart materials are those materials !
(A) That responds to a change in their fossilized and hydrocarbon form
(B) That responds to a change either in the temperature, humidity, colour

(C) That can be controlled by external stimuli such as mechanical electric
stress

(D) Both (B) and (C), but not (A)

48.

mts*s Sayrie (materials) ©onT :
(¥) 3R BentE B3 BB BIZNVOR wRRSIHH 5,35,0007033 f i
(w) T3PT, 35008 wean¥d) BLoEFNIS WHLITHN &880V

() 0dR033 BYFBY 0T BACNT FLAETIMYOT BF)res), DoDOZIWEIR

(B) (W) o) (3) 3D0IRNES 8ETd (©) ve) :

' .
46. Which of the following definition for ‘Science’ has been coined by ‘Carl Sagan’? i ‘;
(A) Science is a way of thinking much more than it is a body of knowledge

(B) An intellectual activity carried out by humans ' B 49

(C) Science is knowledge -covering general truths of the operation of general |
laws |

(D) All of science is uncertain and subject to revision

‘TOCFE MRS BN WURRHN 3@&5 ety qﬁw aa'%a% odre)w0?

(8) D2RP SOOI 20T ERFB BAF 2000TF03 BN BXAOE dREST FT

(w) STSD Fried)s word WPRY (ATRVIAL

(B8) =SFE PobRoneh FOT SNPBS de30dR), LRVBIZ TBE ST BN JOTPNE WP
(B) 2RIV, H0Ze BAZIHNS 303 BHTRY wISEIZS

c 12/16
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50. GIS stands for

Sl

92.

(A)
(B)
(©)

(D)

(¥)
)
(%)
(@)

2.0.9%5°. (GIS) ®ord

Global Information System
Geospatial Informative System
Geographical Information System

Geological Information System

neswer A0'Pdean’ A3
BadpcmBoder qutgdetsa A30¢
Zoleemdzer ma‘aﬁd@eﬁa‘ AR

BodpeeRsef B FT AT AP

Principle of LASER is

(A)

(C)

Spontaneous absorption

Induced emission

SeR0’® 203903 A3,

(o)
(%)

The electrical output of a solar cell depends on the

(A)

(©)

%000 FPTFREBT AT susTIAL

(®)
(%)

3T, e LeDBRUT §0b

Bede3 BHTWLVIT

Intensity of solar radiation
“--..._\_‘_\_

\ \
Ultraviolet radiation

Stimulated emission

Induced absorption

3e8eeh3 BATWOIE

B edeas LedEad) I8

Heat component of solar radiation

Infrared radiation

2Boees 8ZT00DITNG.

A0 Q30T deg 3

8 o IV

14/16
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53.

54.

55.

In the study of Science

(A) deductive reasoning may be used, but inductive reasoning is preferred
(B) inductive reasoning may be used, but deductive reasoning is preferred
(C) only inductive reasoning is used

(D) either deductive/inductive reasoning or both may be used

DR TE VG 0OTE,

(¥) BBNRST F93FZ0DT, WITWBITW), BTBT ANDOT T3 TNt Bed) WG 3 ¥

(w) ST FdrFI0DFY, WIRWBIR), VBT VRONROT FodF T3t B3), 553 90

(¥) FeSo ANBOT FdFEI0dRY, WIRIYT

(B) oRNBT Vs ANBOIT 393653 VPI VBT, WIBWBIR

The Department of Science and Technology (DST) was established in India
in

(A) May 1971  (B) June 1971 (C) May 1981 (D) June 1981

036 e 03) 30328 (DST) HewaSabd), 08 TAREROND.

(¥) e 1971 (») =eef 1971 () e 1981 (B) wow* 1981

Which statemeﬁt best describes the structure of an atom?

(A) A positive core surrounded by electrons packed tightly around it

(B) A particle comprised of mixture of protons, electrons and neutrons

(C) A tiny nucleus of protons and neutrons with electrons orbiting around it

(D) A large core of protons and electrons surrounded by neutrons

FOB0e0IT T oD, ades Beddodn 83N HSTORZS?

(8) SSTRFORD B AFOBI FI3s eos,

(0) BT, FSTFF ) BT D80BT BVoENT T

(8) HSTPi R RINIS B etrn® Iy Rky* 700 Dews Beog,

(®) BRERNYE 2ITOT Fe,ctsn’ F03) BtV RYCIS BAR M3E seos,
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